

TABULATION OF BIDS

Date 11/15/23
 Time 10:00
 Attended By E.S. M.S. N.A.

Project: 2024 Kings Road and Alameda Drive
 Section: Drainage Improvements

Proposal Guarantee - 5% Bid Bond

Item No. or Group	Items	Unit	Quantity	ENGINEER'S ESTIMATE		ACURA, INC. 556 County Line Rd, Suite B Bensenville, IL 60106		A LAMP CONCRETE CONSTRUCTION, INC. 1900 Wright Blvd. Schaumburg, IL 60193		BERGER CONTRACTORS, INC. 1250 Garland Rd. Wauconda, IL 60084		BOLDER CONTRACTORS, INC. 316 Cary Point Dr. Cary, IL 60013		COPENHAVER CONSTRUCTION, INC. 75 Koppie Drive Giberts, IL 60316		DIMEO BROTHERS, INC. 720 Richard Lane Elk Grove Village, IL 60007		JOEL KENNEDY CONSTRUCTING CORP. 2830 N. Lincoln Ave. Chicago, IL 60657		MARTAM CONSTRUCTION, INC. 1200 Gasket Dr. Elgin, IL 60120		SWALLOW CONSTRUCTION CORP. 490 Topsoil Dr. West Chicago, IL 60185	
				Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	TREE REMOVAL (6 TO 15 UNITS DIAMETER)	UNIT	550	\$ 55.00	\$ 30,250.00	\$ 35.00	\$ 19,250.00	\$ 30.00	\$ 16,500.00	\$ 16.00	\$ 8,800.00	\$ 22.00	\$ 12,100.00	\$ 20.00	\$ 11,000.00	\$ 18.00	\$ 9,900.00	\$ 33.00	\$ 18,150.00	\$ 18.00	\$ 9,900.00	\$ 16.25	\$ 8,937.50
2	TREE REMOVAL (OVER 15 UNITS DIAMETER)	UNIT	300	\$ 55.00	\$ 16,500.00	\$ 50.00	\$ 15,000.00	\$ 50.00	\$ 15,000.00	\$ 23.00	\$ 6,900.00	\$ 32.00	\$ 9,600.00	\$ 27.00	\$ 8,100.00	\$ 26.00	\$ 7,800.00	\$ 44.00	\$ 13,200.00	\$ 25.00	\$ 7,500.00	\$ 23.25	\$ 6,975.00
3	TEMPORARY FENCE	FOOT	600	\$ 4.00	\$ 2,400.00	\$ 10.00	\$ 6,000.00	\$ 1.00	\$ 600.00	\$ 9.00	\$ 5,400.00	\$ 8.00	\$ 4,800.00	\$ 10.00	\$ 6,000.00	\$ 5.00	\$ 3,000.00	\$ 6.00	\$ 3,600.00	\$ 5.00	\$ 3,000.00	\$ 6.65	\$ 3,990.00
4	TREE ROOT PRUNING	EACH	10	\$ 150.00	\$ 1,500.00	\$ 100.00	\$ 1,000.00	\$ 150.00	\$ 1,500.00	\$ 100.00	\$ 1,000.00	\$ 200.00	\$ 2,000.00	\$ 100.00	\$ 1,000.00	\$ 200.00	\$ 2,000.00	\$ 190.00	\$ 1,900.00	\$ 110.00	\$ 1,100.00	\$ 110.00	\$ 1,100.00
5	TREE PRUNING (1 TO 10 INCH DIAMETER)	EACH	5	\$ 150.00	\$ 750.00	\$ 100.00	\$ 500.00	\$ 100.00	\$ 500.00	\$ 50.00	\$ 250.00	\$ 400.00	\$ 2,000.00	\$ 50.00	\$ 250.00	\$ 200.00	\$ 1,000.00	\$ 200.00	\$ 1,000.00	\$ 60.00	\$ 300.00	\$ 150.00	\$ 750.00
6	EARTH EXCAVATION	CU YD	400	\$ 15.00	\$ 6,000.00	\$ 25.00	\$ 10,000.00	\$ 31.00	\$ 12,400.00	\$ 45.00	\$ 18,000.00	\$ 26.00	\$ 10,400.00	\$ 32.00	\$ 12,800.00	\$ 35.00	\$ 14,000.00	\$ 35.00	\$ 14,000.00	\$ 36.00	\$ 14,400.00	\$ 33.00	\$ 13,200.00
7	REMOVAL AND DISPOSAL OF UNSUITABLE MATERIAL	CU YD	300	\$ 50.00	\$ 15,000.00	\$ 45.00	\$ 13,500.00	\$ 36.00	\$ 10,800.00	\$ 45.00	\$ 13,500.00	\$ 50.00	\$ 15,000.00	\$ 32.00	\$ 9,600.00	\$ 25.00	\$ 7,500.00	\$ 45.00	\$ 13,500.00	\$ 36.00	\$ 10,800.00	\$ 30.00	\$ 9,000.00
8	CHANNEL EXCAVATION	CU YD	1200	\$ 50.00	\$ 60,000.00	\$ 55.00	\$ 66,000.00	\$ 56.00	\$ 67,200.00	\$ 49.00	\$ 58,800.00	\$ 55.00	\$ 66,000.00	\$ 46.00	\$ 55,200.00	\$ 80.00	\$ 96,000.00	\$ 35.00	\$ 42,000.00	\$ 45.00	\$ 54,000.00	\$ 40.00	\$ 48,000.00
9	POROUS GRANULAR EMBANKMENT	CU YD	250	\$ 48.00	\$ 12,000.00	\$ 45.00	\$ 11,250.00	\$ 49.50	\$ 12,375.00	\$ 79.00	\$ 19,750.00	\$ 45.00	\$ 11,250.00	\$ 30.00	\$ 7,500.00	\$ 40.00	\$ 10,000.00	\$ 160.00	\$ 40,000.00	\$ 54.00	\$ 13,500.00	\$ 52.00	\$ 13,000.00
10	TRENCH BACKFILL	CU YD	3000	\$ 48.00	\$ 144,000.00	\$ 45.00	\$ 135,000.00	\$ 30.00	\$ 90,000.00	\$ 52.00	\$ 156,000.00	\$ 30.00	\$ 90,000.00	\$ 0.01	\$ 30.00	\$ 28.00	\$ 84,000.00	\$ 43.00	\$ 129,000.00	\$ 48.00	\$ 144,000.00	\$ 44.60	\$ 133,800.00
11	POROUS GRANULAR BACKFILL	CU YD	205	\$ 55.00	\$ 11,275.00	\$ 60.00	\$ 12,300.00	\$ 42.00	\$ 8,610.00	\$ 110.00	\$ 22,550.00	\$ 30.00	\$ 6,150.00	\$ 35.00	\$ 7,175.00	\$ 40.00	\$ 8,200.00	\$ 50.00	\$ 10,250.00	\$ 54.00	\$ 11,070.00	\$ 42.50	\$ 8,712.50
12	GEOTECHNICAL FABRIC FOR GROUND STABILIZATION	SQ YD	700	\$ 3.50	\$ 2,450.00	\$ 5.00	\$ 3,500.00	\$ 2.00	\$ 1,400.00	\$ 3.25	\$ 2,275.00	\$ 4.00	\$ 2,800.00	\$ 3.00	\$ 2,100.00	\$ 3.00	\$ 2,100.00	\$ 5.00	\$ 3,500.00	\$ 3.00	\$ 2,100.00	\$ 3.25	\$ 2,275.00
13	TOPSOIL FURNISH AND PLACE, 4"	SQ YD	4800	\$ 8.00	\$ 38,400.00	\$ 6.00	\$ 28,800.00	\$ 4.00	\$ 19,200.00	\$ 8.25	\$ 39,600.00	\$ 5.00	\$ 24,000.00	\$ 4.00	\$ 19,200.00	\$ 7.00	\$ 33,600.00	\$ 3.00	\$ 14,400.00	\$ 5.00	\$ 24,000.00	\$ 6.00	\$ 28,800.00
14	SEEDING, CLASS 1	ACRE	0.4	\$ 12,000.00	\$ 4,800.00	\$ 2,600.00	\$ 1,040.00	\$ 6,650.00	\$ 2,660.00	\$ 4,900.00	\$ 1,960.00	\$ 8,000.00	\$ 3,200.00	\$ 6,000.00	\$ 2,400.00	\$ 7,500.00	\$ 3,000.00	\$ 5,500.00	\$ 2,200.00	\$ 6,500.00	\$ 2,600.00	\$ 5,000.00	\$ 2,000.00
15	SEEDING, CLASS 4A	ACRE	0.1	\$ 15,000.00	\$ 1,500.00	\$ 5,200.00	\$ 520.00	\$ 6,650.00	\$ 665.00	\$ 11,000.00	\$ 1,100.00	\$ 8,000.00	\$ 800.00	\$ 20,000.00	\$ 2,000.00	\$ 12,000.00	\$ 1,200.00	\$ 7,000.00	\$ 700.00	\$ 6,500.00	\$ 650.00	\$ 11,100.00	\$ 1,110.00
16	EROSION CONTROL BLANKET	SQ YD	2100	\$ 3.50	\$ 7,350.00	\$ 2.25	\$ 4,725.00	\$ 1.50	\$ 3,150.00	\$ 1.00	\$ 2,100.00	\$ 2.00	\$ 4,200.00	\$ 3.00	\$ 6,300.00	\$ 4.00	\$ 8,400.00	\$ 2.00	\$ 4,200.00	\$ 1.30	\$ 2,730.00	\$ 1.10	\$ 2,310.00
17	SODDING, SALT TOLERANT	SQ YD	3000	\$ 11.00	\$ 33,000.00	\$ 10.65	\$ 31,950.00	\$ 13.25	\$ 39,750.00	\$ 12.00	\$ 36,000.00	\$ 12.00	\$ 36,000.00	\$ 11.00	\$ 33,000.00	\$ 13.00	\$ 39,000.00	\$ 15.00	\$ 45,000.00	\$ 13.00	\$ 39,000.00	\$ 12.05	\$ 36,150.00
18	SUPPLEMENTAL WATERING	UNIT	4	\$ 100.00	\$ 400.00	\$ 160.00	\$ 640.00	\$ 0.10	\$ 0.40	\$ 100.00	\$ 400.00	\$ 100.00	\$ 400.00	\$ 0.01	\$ 0.04	\$ 1.00	\$ 4.00	\$ 250.00	\$ 1,000.00	\$ 1.00	\$ 4.00	\$ 105.00	\$ 420.00
19	PERIMETER EROSION BARRIER	FOOT	500	\$ 4.00	\$ 2,000.00	\$ 4.50	\$ 2,250.00	\$ 5.00	\$ 2,500.00	\$ 6.00	\$ 3,000.00	\$ 5.00	\$ 2,500.00	\$ 3.00	\$ 1,500.00	\$ 6.00	\$ 3,000.00	\$ 4.50	\$ 2,250.00	\$ 6.00	\$ 3,000.00	\$ 6.50	\$ 3,250.00
20	INLET FILTERS	EACH	25	\$ 175.00	\$ 4,375.00	\$ 150.00	\$ 3,750.00	\$ 15.00	\$ 375.00	\$ 300.00	\$ 7,500.00	\$ 50.00	\$ 1,250.00	\$ 100.00	\$ 2,500.00	\$ 175.00	\$ 4,375.00	\$ 275.00	\$ 6,875.00	\$ 250.00	\$ 6,250.00	\$ 205.00	\$ 5,125.00
21	STONE RIPRAP, CLASS A5	SQ YD	1200	\$ 120.00	\$ 144,000.00	\$ 90.00	\$ 108,000.00	\$ 63.00	\$ 75,600.00	\$ 97.00	\$ 116,400.00	\$ 130.00	\$ 156,000.00	\$ 105.00	\$ 126,000.00	\$ 125.00	\$ 150,000.00	\$ 90.00	\$ 108,000.00	\$ 91.00	\$ 109,200.00	\$ 65.00	\$ 78,000.00
22	STONE RIPRAP, CLASS A6	SQ YD	180	\$ 150.00	\$ 27,000.00	\$ 120.00	\$ 21,600.00	\$ 111.00	\$ 19,980.00	\$ 135.00	\$ 24,300.00	\$ 300.00	\$ 54,000.00	\$ 120.00	\$ 21,600.00	\$ 175.00	\$ 31,500.00	\$ 98.00	\$ 17,640.00	\$ 105.00	\$ 18,900.00	\$ 62.00	\$ 11,160.00
23	GABIONS	CU YD	120	\$ 380.00	\$ 45,600.00	\$ 450.00	\$ 54,000.00	\$ 355.00	\$ 42,600.00	\$ 750.00	\$ 90,000.00	\$ 370.00	\$ 44,400.00	\$ 650.00	\$ 78,000.00	\$ 350.00	\$ 42,000.00	\$ 500.00	\$ 60,000.00	\$ 275.00	\$ 33,000.00	\$ 241.00	\$ 28,920.00
24	AGGREGATE BASE COURSE, TYPE B 8"	SQ YD	100	\$ 15.00	\$ 1,500.00	\$ 12.00	\$ 1,200.00	\$ 15.00	\$ 1,500.00	\$ 31.00	\$ 3,100.00	\$ 40.00	\$ 4,000.00	\$ 12.00	\$ 1,200.00	\$ 12.00	\$ 1,200.00	\$ 40.00	\$ 4,000.00	\$ 18.00	\$ 1,800.00	\$ 22.00	\$ 2,200.00
25	PREPARATION OF BASE	SQ YD	6700	\$ 3.00	\$ 20,100.00	\$ 2.25	\$ 15,075.00	\$ 1.10	\$ 7,370.00	\$ 1.98	\$ 13,266.00	\$ 1.50	\$ 10,050.00	\$ 3.00	\$ 20,100.00	\$ 2.00	\$ 13,400.00	\$ 3.00	\$ 20,100.00	\$ 1.40	\$ 9,380.00	\$ 1.35	\$ 9,045.00
26	AGGREGATE BASE REPAIR	TON	400	\$ 40.00	\$ 16,000.00	\$ 25.00	\$ 10,000.00	\$ 13.25	\$ 5,300.00	\$ 18.00	\$ 7,200.00	\$ 30.00	\$ 12,000.00	\$ 21.00	\$ 8,400.00	\$ 20.00	\$ 8,000.00	\$ 40.00	\$ 16,000.00	\$ 35.00	\$ 14,000.00	\$ 61.00	\$ 24,400.00
27	BITUMINOUS MATERIALS (PRIME COAT)	POUND	15500	\$ 1.00	\$ 15,500.00	\$ 0.01	\$ 155.00	\$ 0.01	\$ 155.00	\$ 0.01	\$ 155.00	\$ 0.01	\$ 155.00	\$ 0.10	\$ 1,550.00	\$ 0.01	\$ 155.00	\$ 0.01	\$ 155.00	\$ 0.01	\$ 155.00	\$ 0.01	\$ 155.00
28	BITUMINOUS MATERIALS (TACK COAT)	POUND	1500	\$ 1.00	\$ 1,500.00	\$ 0.01	\$ 15.00	\$ 0.01	\$ 15.00	\$ 0.01	\$ 15.00	\$ 0.01	\$ 15.00	\$ 0.10	\$ 150.00	\$ 0.01	\$ 15.00	\$ 0.01	\$ 15.00	\$ 0.01	\$ 15.00	\$ 0.01	\$ 15.00
29	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N50	TON	2000	\$ 95.00	\$ 190,000.00	\$ 90.00	\$ 180,000.00	\$ 91.00	\$ 182,000.00	\$ 80.65	\$ 161,300.00	\$ 80.00	\$ 160,000.00	\$ 92.00	\$ 184,000.00	\$ 85.00	\$ 170,000.00	\$ 85.00	\$ 170,000.00	\$ 85.00	\$ 170,000.00	\$ 80.00	\$ 160,000.00
30	HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "D", N50	TON	800	\$ 100.00	\$ 80,000.00	\$ 105.00	\$ 84,000.00	\$ 102.00	\$ 81,600.00	\$ 93.65	\$ 74,920.00	\$ 95.00	\$ 76,000.00	\$ 108.00	\$ 86,400.00	\$ 100.00	\$ 80,000.00	\$ 100.00	\$ 80,000.00	\$ 98.00	\$ 78,400.00	\$ 95.00	\$ 76,000.00
31	PORTLAND CEMENT CONCRETE DRIVEWAY PAVEMENT, 7 INCH	SQ YD	470	\$ 95.00	\$ 44,650.00	\$ 108.00	\$ 50,760.00	\$ 105.00	\$ 49,350.00	\$ 107.59	\$ 50,567.30	\$ 100.00	\$ 47,000.00	\$ 95.00	\$ 44,650.00	\$ 90.00	\$ 42,300.00	\$ 105.00	\$ 49,350.00	\$ 83.00	\$ 39,010.00	\$ 129.00	\$ 60,630.00
32	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	SQ FT	15000	\$ 10.00	\$ 150,000.00	\$ 12.00	\$ 180,000.00	\$ 7.95	\$ 119,250.00	\$ 10.04	\$ 150,600.00	\$ 10.00	\$ 150,000.00	\$ 8.00	\$ 120,000.00	\$ 8.50	\$ 127,500.00	\$ 9.75	\$ 146,250.00	\$ 8.00	\$ 120,000.00	\$ 14.25	\$ 213,750.00
33	DETECTABLE WARNINGS	SQ FT	105	\$ 50.00	\$ 5,250.00	\$ 60.00	\$ 6,300.00	\$ 25.00	\$ 2,625.00	\$ 38.00	\$ 3,990.00	\$ 40.00	\$ 4,200.00	\$ 35.00	\$ 3,675.00	\$ 40.00	\$ 4,200.00	\$ 50.00	\$ 5,250.00	\$ 45.00	\$ 4,725.00	\$ 41.00	\$ 4,305.00
34	PAVEMENT REMOVAL	SQ YD	7100	\$ 11.00	\$ 78,100.00	\$ 20.00	\$ 142,000.00	\$ 7.25	\$ 51,475.00	\$ 8.75	\$ 62,125.00	\$ 5.00	\$ 35,500.00	\$ 11.00	\$ 78,100.00	\$ 7.00	\$ 49,700.00	\$ 13.50	\$ 95,850.00	\$ 12.00	\$ 85,200.00	\$ 18.25	\$ 129,575.00

35	DRIVEWAY PAVEMENT REMOVAL	SQ YD	1000	\$ 12.00	\$ 12,000.00	\$ 18.00	\$ 18,000.00	\$ 13.25	\$ 13,250.00	\$ 11.00	\$ 11,000.00	\$ 11.00	\$ 11,000.00	\$ 15.00	\$ 15,000.00	\$ 7.00	\$ 7,000.00	\$ 20.00	\$ 20,000.00	\$ 12.00	\$ 12,000.00	\$ 22.25	\$ 22,250.00
36	COMBINATION CURB AND GUTTER REMOVAL	FOOT	115	\$ 8.00	\$ 920.00	\$ 15.00	\$ 1,725.00	\$ 6.50	\$ 747.50	\$ 5.85	\$ 672.75	\$ 9.00	\$ 1,035.00	\$ 6.00	\$ 690.00	\$ 8.00	\$ 920.00	\$ 10.00	\$ 1,150.00	\$ 10.00	\$ 1,150.00	\$ 13.00	\$ 1,495.00
37	SIDEWALK REMOVAL	SQ FT	15000	\$ 2.00	\$ 30,000.00	\$ 3.00	\$ 45,000.00	\$ 1.80	\$ 27,000.00	\$ 1.25	\$ 18,750.00	\$ 1.50	\$ 22,500.00	\$ 2.00	\$ 30,000.00	\$ 2.00	\$ 30,000.00	\$ 2.00	\$ 30,000.00	\$ 2.00	\$ 30,000.00	\$ 0.35	\$ 5,250.00
38	REMOVAL OF EXISTING STRUCTURES NO. 1	EACH	1	\$ 800.00	\$ 800.00	\$ 1,500.00	\$ 1,500.00	\$ 1,325.00	\$ 1,325.00	\$ 1,100.00	\$ 1,100.00	\$ 1,200.00	\$ 1,200.00	\$ 700.00	\$ 700.00	\$ 2,000.00	\$ 2,000.00	\$ 2,500.00	\$ 2,500.00	\$ 1,200.00	\$ 1,200.00	\$ 1,150.00	\$ 1,150.00
39	REMOVAL OF EXISTING STRUCTURES NO. 2	EACH	1	\$ 800.00	\$ 800.00	\$ 1,500.00	\$ 1,500.00	\$ 1,325.00	\$ 1,325.00	\$ 1,100.00	\$ 1,100.00	\$ 1,200.00	\$ 1,200.00	\$ 700.00	\$ 700.00	\$ 2,000.00	\$ 2,000.00	\$ 2,500.00	\$ 2,500.00	\$ 1,200.00	\$ 1,200.00	\$ 600.00	\$ 600.00
40	REMOVAL OF EXISTING STRUCTURES NO. 3	EACH	1	\$ 1,000.00	\$ 1,000.00	\$ 1,500.00	\$ 1,500.00	\$ 2,000.00	\$ 2,000.00	\$ 2,100.00	\$ 2,100.00	\$ 1,200.00	\$ 1,200.00	\$ 700.00	\$ 700.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 1,200.00	\$ 1,200.00	\$ 600.00	\$ 600.00
41	REMOVAL OF EXISTING STRUCTURES NO. 4	EACH	1	\$ 800.00	\$ 800.00	\$ 1,500.00	\$ 1,500.00	\$ 1,325.00	\$ 1,325.00	\$ 1,100.00	\$ 1,100.00	\$ 1,200.00	\$ 1,200.00	\$ 700.00	\$ 700.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 1,200.00	\$ 1,200.00	\$ 600.00	\$ 600.00
42	REMOVAL OF EXISTING STRUCTURES NO. 5	EACH	1	\$ 800.00	\$ 800.00	\$ 1,500.00	\$ 1,500.00	\$ 1,325.00	\$ 1,325.00	\$ 1,100.00	\$ 1,100.00	\$ 1,200.00	\$ 1,200.00	\$ 700.00	\$ 700.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 1,200.00	\$ 1,200.00	\$ 600.00	\$ 600.00
43	REMOVAL OF EXISTING STRUCTURES NO. 6	EACH	1	\$ 2,500.00	\$ 2,500.00	\$ 1,500.00	\$ 1,500.00	\$ 1,325.00	\$ 1,325.00	\$ 2,500.00	\$ 2,500.00	\$ 1,200.00	\$ 1,200.00	\$ 5,000.00	\$ 5,000.00	\$ 2,000.00	\$ 2,000.00	\$ 2,500.00	\$ 2,500.00	\$ 6,000.00	\$ 6,000.00	\$ 600.00	\$ 600.00
44	REMOVAL OF EXISTING STRUCTURES NO. 7	EACH	1	\$ 2,000.00	\$ 2,000.00	\$ 5,500.00	\$ 5,500.00	\$ 1,325.00	\$ 1,325.00	\$ 3,600.00	\$ 3,600.00	\$ 2,100.00	\$ 2,100.00	\$ 3,500.00	\$ 3,500.00	\$ 3,000.00	\$ 3,000.00	\$ 4,000.00	\$ 4,000.00	\$ 6,000.00	\$ 6,000.00	\$ 3,450.00	\$ 3,450.00
45	REMOVAL OF EXISTING STRUCTURES NO. 8	EACH	1	\$ 1,000.00	\$ 1,000.00	\$ 7,500.00	\$ 7,500.00	\$ 1,325.00	\$ 1,325.00	\$ 3,600.00	\$ 3,600.00	\$ 2,100.00	\$ 2,100.00	\$ 6,000.00	\$ 6,000.00	\$ 3,000.00	\$ 3,000.00	\$ 4,000.00	\$ 4,000.00	\$ 8,000.00	\$ 8,000.00	\$ 3,450.00	\$ 3,450.00
46	REMOVAL OF EXISTING STRUCTURES NO. 9	EACH	1	\$ 1,000.00	\$ 1,000.00	\$ 7,500.00	\$ 7,500.00	\$ 1,325.00	\$ 1,325.00	\$ 3,600.00	\$ 3,600.00	\$ 2,100.00	\$ 2,100.00	\$ 6,000.00	\$ 6,000.00	\$ 3,000.00	\$ 3,000.00	\$ 4,000.00	\$ 4,000.00	\$ 8,000.00	\$ 8,000.00	\$ 3,450.00	\$ 3,450.00
47	REMOVAL OF EXISTING STRUCTURES NO. 10	EACH	1	\$ 1,000.00	\$ 1,000.00	\$ 2,500.00	\$ 2,500.00	\$ 1,325.00	\$ 1,325.00	\$ 6,100.00	\$ 6,100.00	\$ 1,200.00	\$ 1,200.00	\$ 1,000.00	\$ 1,000.00	\$ 2,000.00	\$ 2,000.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 2,500.00	\$ 3,450.00	\$ 3,450.00
48	REMOVAL OF EXISTING STRUCTURES NO. 11	EACH	1	\$ 1,000.00	\$ 1,000.00	\$ 5,500.00	\$ 5,500.00	\$ 1,325.00	\$ 1,325.00	\$ 3,750.00	\$ 3,750.00	\$ 1,200.00	\$ 1,200.00	\$ 3,500.00	\$ 3,500.00	\$ 3,000.00	\$ 3,000.00	\$ 2,500.00	\$ 2,500.00	\$ 8,000.00	\$ 8,000.00	\$ 3,450.00	\$ 3,450.00
49	STRUCTURE EXCAVATION	CU YD	935	\$ 50.00	\$ 46,750.00	\$ 55.00	\$ 51,425.00	\$ 35.00	\$ 32,725.00	\$ 10.00	\$ 9,350.00	\$ 1.00	\$ 935.00	\$ 43.00	\$ 40,205.00	\$ 40.00	\$ 37,400.00	\$ 40.00	\$ 37,400.00	\$ 45.00	\$ 42,075.00	\$ 40.00	\$ 37,400.00
50	CONCRETE STRUCTURES	CU YD	18.3	\$ 1,300.00	\$ 23,790.00	\$ 2,100.00	\$ 38,430.00	\$ 2,200.00	\$ 40,260.00	\$ 3,210.00	\$ 58,743.00	\$ 2,250.00	\$ 41,175.00	\$ 1,700.00	\$ 31,110.00	\$ 2,500.00	\$ 45,750.00	\$ 3,500.00	\$ 64,050.00	\$ 2,200.00	\$ 40,260.00	\$ 2,210.00	\$ 40,443.00
51	FORM LINER TEXTURED SURFACE	SQ FT	440	\$ 45.00	\$ 19,800.00	\$ 30.00	\$ 13,200.00	\$ 27.50	\$ 12,100.00	\$ 25.00	\$ 11,000.00	\$ 25.00	\$ 11,000.00	\$ 35.00	\$ 15,400.00	\$ 24.00	\$ 10,560.00	\$ 30.00	\$ 13,200.00	\$ 15.00	\$ 6,600.00	\$ 25.25	\$ 11,110.00
52	REINFORCEMENT BARS, EPOXY COATED	POUND	2741	\$ 2.50	\$ 6,852.50	\$ 7.50	\$ 20,557.50	\$ 2.50	\$ 6,852.50	\$ 2.10	\$ 5,756.10	\$ 2.00	\$ 5,482.00	\$ 3.00	\$ 8,223.00	\$ 2.00	\$ 5,482.00	\$ 4.00	\$ 10,964.00	\$ 3.00	\$ 8,223.00	\$ 2.15	\$ 5,893.15
53	PEDESTRIAN RAILING	FOOT	70	\$ 300.00	\$ 21,000.00	\$ 300.00	\$ 21,000.00	\$ 315.00	\$ 22,050.00	\$ 290.00	\$ 20,300.00	\$ 325.00	\$ 22,750.00	\$ 329.00	\$ 23,030.00	\$ 310.00	\$ 21,700.00	\$ 290.00	\$ 20,300.00	\$ 300.00	\$ 21,000.00	\$ 300.00	\$ 21,000.00
54	BOX CULVERT END SECTIONS, CULVERT NO. 1	EACH	2	\$ 15,000.00	\$ 30,000.00	\$ 2,500.00	\$ 5,000.00	\$ 20,000.00	\$ 40,000.00	\$ 35,000.00	\$ 70,000.00	\$ 20,000.00	\$ 40,000.00	\$ 23,000.00	\$ 46,000.00	\$ 35,000.00	\$ 70,000.00	\$ 60,000.00	\$ 120,000.00	\$ 38,500.00	\$ 77,000.00	\$ 31,500.00	\$ 63,000.00
55	PRECAST CONCRETE BOX CULVERTS 6' X 4'	FOOT	128	\$ 600.00	\$ 76,800.00	\$ 750.00	\$ 96,000.00	\$ 960.00	\$ 122,880.00	\$ 835.00	\$ 106,880.00	\$ 800.00	\$ 102,400.00	\$ 780.00	\$ 99,840.00	\$ 1,500.00	\$ 192,000.00	\$ 1,230.00	\$ 157,440.00	\$ 1,120.00	\$ 143,360.00	\$ 800.00	\$ 102,400.00
56	PRECAST CONCRETE BOX CULVERTS 9' X 3'	FOOT	96	\$ 1,750.00	\$ 168,000.00	\$ 1,100.00	\$ 105,600.00	\$ 1,147.00	\$ 110,112.00	\$ 1,650.00	\$ 158,400.00	\$ 1,400.00	\$ 134,400.00	\$ 990.00	\$ 95,040.00	\$ 2,200.00	\$ 211,200.00	\$ 1,550.00	\$ 148,800.00	\$ 1,530.00	\$ 146,880.00	\$ 1,225.00	\$ 117,600.00
57	PRECAST CONCRETE BOX CULVERTS 10' X 4'	FOOT	44	\$ 1,750.00	\$ 77,000.00	\$ 1,500.00	\$ 66,000.00	\$ 1,674.00	\$ 73,656.00	\$ 2,750.00	\$ 121,000.00	\$ 1,800.00	\$ 79,200.00	\$ 1,500.00	\$ 66,000.00	\$ 2,800.00	\$ 123,200.00	\$ 1,900.00	\$ 83,600.00	\$ 1,920.00	\$ 84,480.00	\$ 1,675.00	\$ 73,700.00
58	PRECAST REINFORCED CONCRETE FLARED END SECTIONS 48"	EACH	1	\$ 3,200.00	\$ 3,200.00	\$ 4,500.00	\$ 4,500.00	\$ 6,250.00	\$ 6,250.00	\$ 7,950.00	\$ 7,950.00	\$ 10,000.00	\$ 10,000.00	\$ 6,000.00	\$ 6,000.00	\$ 15,000.00	\$ 15,000.00	\$ 8,000.00	\$ 8,000.00	\$ 4,200.00	\$ 4,200.00	\$ 4,500.00	\$ 4,500.00
59	REINFORCED CONCRETE PIPE ELBOW/TEE, 48" PIPE WITH 36" RISER	EACH	1	\$ 3,500.00	\$ 3,500.00	\$ 6,000.00	\$ 6,000.00	\$ 6,850.00	\$ 6,850.00	\$ 6,200.00	\$ 6,200.00	\$ 9,000.00	\$ 9,000.00	\$ 5,800.00	\$ 5,800.00	\$ 5,550.00	\$ 5,550.00	\$ 12,000.00	\$ 12,000.00	\$ 5,500.00	\$ 5,500.00	\$ 6,050.00	\$ 6,050.00
60	REINFORCED CONCRETE PIPE ELBOW/TEE, 54" PIPE WITH 36" RISER	EACH	1	\$ 4,500.00	\$ 4,500.00	\$ 7,500.00	\$ 7,500.00	\$ 7,800.00	\$ 7,800.00	\$ 6,900.00	\$ 6,900.00	\$ 10,000.00	\$ 10,000.00	\$ 6,900.00	\$ 6,900.00	\$ 6,400.00	\$ 6,400.00	\$ 12,500.00	\$ 12,500.00	\$ 7,200.00	\$ 7,200.00	\$ 6,775.00	\$ 6,775.00
61	REINFORCED CONCRETE PIPE ELBOW/TEE, 66" PIPE WITH 36" RISER	EACH	3	\$ 7,000.00	\$ 21,000.00	\$ 7,500.00	\$ 22,500.00	\$ 8,300.00	\$ 24,900.00	\$ 8,000.00	\$ 24,000.00	\$ 12,000.00	\$ 36,000.00	\$ 11,300.00	\$ 33,900.00	\$ 7,500.00	\$ 22,500.00	\$ 13,500.00	\$ 40,500.00	\$ 8,200.00	\$ 24,600.00	\$ 11,500.00	\$ 34,500.00
62	STORM SEWERS, CLASS A, TYPE 1 12"	FOOT	317	\$ 85.00	\$ 26,945.00	\$ 90.00	\$ 28,530.00	\$ 99.00	\$ 31,383.00	\$ 82.00	\$ 25,994.00	\$ 100.00	\$ 31,700.00	\$ 99.00	\$ 31,383.00	\$ 100.00	\$ 31,700.00	\$ 195.00	\$ 61,815.00	\$ 72.00	\$ 22,824.00	\$ 165.00	\$ 52,305.00
63	STORM SEWERS, CLASS A, TYPE 1 15"	FOOT	52	\$ 95.00	\$ 4,940.00	\$ 120.00	\$ 6,240.00	\$ 100.00	\$ 5,200.00	\$ 98.00	\$ 5,096.00	\$ 120.00	\$ 6,240.00	\$ 109.00	\$ 5,668.00	\$ 125.00	\$ 6,500.00	\$ 200.00	\$ 10,400.00	\$ 78.00	\$ 4,056.00	\$ 90.00	\$ 4,680.00
64	STORM SEWERS, CLASS A, TYPE 1 18"	FOOT	228	\$ 105.00	\$ 23,940.00	\$ 100.00	\$ 22,800.00	\$ 108.00	\$ 24,624.00	\$ 99.00	\$ 22,572.00	\$ 140.00	\$ 31,920.00	\$ 115.00	\$ 26,220.00	\$ 140.00	\$ 31,920.00	\$ 210.00	\$ 47,880.00	\$ 84.00	\$ 19,152.00	\$ 93.00	\$ 21,204.00
65	STORM SEWERS, CLASS A, TYPE 1 24"	FOOT	15	\$ 140.00	\$ 2,100.00	\$ 200.00	\$ 3,000.00	\$ 149.00	\$ 2,235.00	\$ 148.00	\$ 2,220.00	\$ 240.00	\$ 3,600.00	\$ 140.00	\$ 2,100.00	\$ 180.00	\$ 2,700.00	\$ 315.00	\$ 4,725.00	\$ 135.00	\$ 2,025.00	\$ 200.00	\$ 3,000.00
66	STORM SEWERS, CLASS A, TYPE 1 30"	FOOT	285	\$ 170.00	\$ 48,450.00	\$ 180.00	\$ 51,300.00	\$ 173.00	\$ 49,305.00	\$ 134.00	\$ 38,190.00	\$ 150.00	\$ 42,750.00	\$ 162.00	\$ 46,170.00	\$ 225.00	\$ 64,125.00	\$ 320.00	\$ 91,200.00	\$ 132.00	\$ 37,620.00	\$ 135.00	\$ 38,475.00
67	STORM SEWERS, CLASS A, TYPE 1 36"	FOOT	14	\$ 190.00	\$ 2,660.00	\$ 300.00	\$ 4,200.00	\$ 214.00	\$ 2,996.00	\$ 210.00	\$ 2,940.00	\$ 290.00	\$ 4,060.00	\$ 210.00	\$ 2,940.00	\$ 250.00	\$ 3,500.00	\$ 420.00	\$ 5,880.00	\$ 155.00	\$ 2,170.00	\$ 235.00	\$ 3,290.00
68	STORM SEWERS, CLASS A, TYPE 1 48"	FOOT	171	\$ 240.00	\$ 41,040.00	\$ 270.00	\$ 46,170.00	\$ 389.00	\$ 66,519.00	\$ 245.00	\$ 41,895.00	\$ 300.00	\$ 51,300.00	\$ 245.00	\$ 41,895.00	\$ 330.00	\$ 56,430.00	\$ 420.00	\$ 71,820.00	\$ 224.00	\$ 38,304.00	\$ 205.00	\$ 35,055.00
69	STORM SEWERS, CLASS A, TYPE 1 54"	FOOT	95	\$ 270.00	\$ 25,650.00	\$ 300.00	\$ 28,500.00	\$ 390.00	\$ 37,050.00	\$ 255.00	\$ 24,225.00	\$ 350.00	\$ 33,250.00	\$ 449.00	\$ 42,655.00	\$ 340.00	\$ 32,300.00	\$ 450.00	\$ 42,750.00	\$ 288.00	\$ 27,360.00	\$ 253.00	\$ 24,035.00
70	STORM SEWERS, CLASS A, TYPE 1 60"	FOOT	150	\$ 300.00	\$ 45,000.00	\$ 330.00	\$ 49,500.00	\$ 435.00	\$ 65,250.00	\$ 465.00	\$ 69,750.00	\$ 400.00	\$ 60,000.00	\$ 479.00	\$ 71,850.00	\$ 350.00	\$ 52,500.00	\$ 530.00	\$ 79,500.00	\$ 308.00	\$ 46,200.00	\$ 300.00	\$ 45,000.00
71	STORM SEWERS, CLASS A, TYPE 1 66"	FOOT	526	\$ 330.00	\$ 173,580.00	\$ 360.00	\$ 189,360.00	\$ 462.00	\$ 243,012.00	\$ 390.00	\$ 205,140.00	\$ 450.00	\$ 236,700.00	\$ 529.00	\$ 278,254.00	\$ 360.00	\$ 189,360.00	\$ 630.00	\$ 331,380.00	\$ 388.00	\$ 204,088.00	\$ 353.00	\$ 185,678.00
72	STORM SEWER REMOVAL 12"	FOOT	135	\$ 10.00	\$ 1,350.00	\$ 25.00	\$ 3,375.00	\$ 1.00	\$ 135.00	\$ 44.99	\$ 6,073.85	\$ 20.00	\$ 2,700.00	\$ 12.00	\$ 1,620.00	\$ 20.00	\$ 2,700.00	\$ 20.00	\$ 2,700.00	\$ 10.00	\$ 1,350.00	\$ 3.00	\$ 405.00
73	STORM SEWER REMOVAL 15"	FOOT	45	\$ 12.00	\$ 540.00	\$ 25.00	\$ 1,125.00	\$ 1.00	\$ 45.00	\$ 50.00	\$ 2,250.00	\$ 20.00	\$ 900.00	\$ 17.00	\$ 765.00	\$ 25.00	\$ 1,125.00	\$ 30.00	\$ 1,350.00	\$ 10.00	\$ 450.00	\$ 3.00	\$ 135.00

74	STORM SEWER REMOVAL 18"	FOOT	20	\$ 15.00	\$ 300.00	\$ 25.00	\$ 500.00	\$ 1.00	\$ 20.00	\$ 60.00	\$ 1,200.00	\$ 20.00	\$ 400.00	\$ 20.00	\$ 400.00	\$ 35.00	\$ 700.00	\$ 37.00	\$ 740.00	\$ 10.00	\$ 200.00	\$ 3.00	\$ 60.00
75	STORM SEWER REMOVAL 24"	FOOT	20	\$ 20.00	\$ 400.00	\$ 25.00	\$ 500.00	\$ 1.00	\$ 20.00	\$ 80.00	\$ 1,600.00	\$ 20.00	\$ 400.00	\$ 25.00	\$ 500.00	\$ 50.00	\$ 1,000.00	\$ 40.00	\$ 800.00	\$ 10.00	\$ 200.00	\$ 3.00	\$ 60.00
76	DUCTILE IRON WATER MAIN 4"	FOOT	20	\$ 80.00	\$ 1,600.00	\$ 500.00	\$ 10,000.00	\$ 124.00	\$ 2,480.00	\$ 90.00	\$ 1,800.00	\$ 200.00	\$ 4,000.00	\$ 150.00	\$ 3,000.00	\$ 175.00	\$ 3,500.00	\$ 248.00	\$ 4,960.00	\$ 120.00	\$ 2,400.00	\$ 50.00	\$ 1,000.00
77	DUCTILE IRON WATER MAIN 6"	FOOT	20	\$ 90.00	\$ 1,800.00	\$ 750.00	\$ 15,000.00	\$ 114.00	\$ 2,280.00	\$ 170.00	\$ 3,400.00	\$ 200.00	\$ 4,000.00	\$ 140.00	\$ 2,800.00	\$ 150.00	\$ 3,000.00	\$ 250.00	\$ 5,000.00	\$ 122.00	\$ 2,440.00	\$ 40.45	\$ 809.00
78	DUCTILE IRON WATER MAIN 8"	FOOT	400	\$ 100.00	\$ 40,000.00	\$ 270.00	\$ 108,000.00	\$ 123.00	\$ 49,200.00	\$ 145.00	\$ 58,000.00	\$ 90.00	\$ 36,000.00	\$ 132.00	\$ 52,800.00	\$ 175.00	\$ 70,000.00	\$ 300.00	\$ 120,000.00	\$ 125.00	\$ 50,000.00	\$ 105.00	\$ 42,000.00
79	DUCTILE IRON WATER MAIN 12"	FOOT	900	\$ 120.00	\$ 108,000.00	\$ 300.00	\$ 270,000.00	\$ 164.00	\$ 147,600.00	\$ 168.00	\$ 151,200.00	\$ 95.00	\$ 85,500.00	\$ 159.00	\$ 143,100.00	\$ 225.00	\$ 202,500.00	\$ 325.00	\$ 292,500.00	\$ 153.00	\$ 137,700.00	\$ 125.00	\$ 112,500.00
80	WATER VALVES 4"	EACH	1	\$ 1,800.00	\$ 1,800.00	\$ 4,000.00	\$ 4,000.00	\$ 1,325.00	\$ 1,325.00	\$ 1,650.00	\$ 1,650.00	\$ 3,500.00	\$ 3,500.00	\$ 2,000.00	\$ 2,000.00	\$ 2,500.00	\$ 2,500.00	\$ 2,000.00	\$ 2,000.00	\$ 1,200.00	\$ 1,200.00	\$ 2,250.00	\$ 2,250.00
81	WATER VALVES 8"	EACH	5	\$ 2,400.00	\$ 12,000.00	\$ 4,500.00	\$ 22,500.00	\$ 2,375.00	\$ 11,875.00	\$ 2,700.00	\$ 13,500.00	\$ 4,000.00	\$ 20,000.00	\$ 2,800.00	\$ 14,000.00	\$ 3,200.00	\$ 16,000.00	\$ 3,000.00	\$ 15,000.00	\$ 2,400.00	\$ 12,000.00	\$ 3,100.00	\$ 15,500.00
82	WATER VALVES 12"	EACH	11	\$ 3,200.00	\$ 35,200.00	\$ 5,000.00	\$ 55,000.00	\$ 4,450.00	\$ 48,950.00	\$ 4,750.00	\$ 52,250.00	\$ 5,000.00	\$ 55,000.00	\$ 4,500.00	\$ 49,500.00	\$ 5,000.00	\$ 55,000.00	\$ 5,000.00	\$ 55,000.00	\$ 3,800.00	\$ 41,800.00	\$ 5,500.00	\$ 60,500.00
83	FIRE HYDRANTS TO BE RELOCATED	EACH	1	\$ 4,000.00	\$ 4,000.00	\$ 5,000.00	\$ 5,000.00	\$ 2,000.00	\$ 2,000.00	\$ 1,400.00	\$ 1,400.00	\$ 4,000.00	\$ 4,000.00	\$ 3,700.00	\$ 3,700.00	\$ 5,000.00	\$ 5,000.00	\$ 10,000.00	\$ 10,000.00	\$ 4,500.00	\$ 4,500.00	\$ 7,500.00	\$ 7,500.00
84	FIRE HYDRANTS TO BE REMOVED	EACH	2	\$ 400.00	\$ 800.00	\$ 2,500.00	\$ 5,000.00	\$ 650.00	\$ 1,300.00	\$ 945.00	\$ 1,890.00	\$ 1,000.00	\$ 2,000.00	\$ 2,100.00	\$ 4,200.00	\$ 400.00	\$ 800.00	\$ 500.00	\$ 1,000.00	\$ 900.00	\$ 1,800.00	\$ 225.00	\$ 450.00
85	FIRE HYDRANT WITH AUXILIARY VALVE AND VALVE BOX	EACH	4	\$ 8,000.00	\$ 32,000.00	\$ 12,500.00	\$ 50,000.00	\$ 9,300.00	\$ 37,200.00	\$ 7,800.00	\$ 31,200.00	\$ 12,000.00	\$ 48,000.00	\$ 8,900.00	\$ 35,600.00	\$ 7,500.00	\$ 30,000.00	\$ 15,000.00	\$ 60,000.00	\$ 8,500.00	\$ 34,000.00	\$ 14,000.00	\$ 56,000.00
86	GEOCOMPOSITE WALL DRAIN	SQ YD	205	\$ 40.00	\$ 8,200.00	\$ 24.00	\$ 4,920.00	\$ 28.00	\$ 5,740.00	\$ 50.00	\$ 10,250.00	\$ 50.00	\$ 10,250.00	\$ 30.00	\$ 6,150.00	\$ 50.00	\$ 10,250.00	\$ 60.00	\$ 12,300.00	\$ 35.00	\$ 7,175.00	\$ 28.50	\$ 5,842.50
87	CONTROLLED LOW-STRENGTH MATERIAL	CU YD	150	\$ 100.00	\$ 15,000.00	\$ 200.00	\$ 30,000.00	\$ 150.00	\$ 22,500.00	\$ 210.00	\$ 31,500.00	\$ 160.00	\$ 24,000.00	\$ 230.00	\$ 34,500.00	\$ 150.00	\$ 22,500.00	\$ 160.00	\$ 24,000.00	\$ 140.00	\$ 21,000.00	\$ 153.00	\$ 22,950.00
88	MANHOLES, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1	\$ 3,500.00	\$ 3,500.00	\$ 5,500.00	\$ 5,500.00	\$ 5,850.00	\$ 5,850.00	\$ 4,850.00	\$ 4,850.00	\$ 9,000.00	\$ 9,000.00	\$ 3,700.00	\$ 3,700.00	\$ 5,000.00	\$ 5,000.00	\$ 7,600.00	\$ 7,600.00	\$ 4,500.00	\$ 4,500.00	\$ 5,600.00	\$ 5,600.00
89	MANHOLES, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	2	\$ 5,000.00	\$ 10,000.00	\$ 6,500.00	\$ 13,000.00	\$ 7,100.00	\$ 14,200.00	\$ 6,975.00	\$ 13,950.00	\$ 12,000.00	\$ 24,000.00	\$ 4,500.00	\$ 9,000.00	\$ 6,500.00	\$ 13,000.00	\$ 9,000.00	\$ 18,000.00	\$ 5,400.00	\$ 10,800.00	\$ 7,050.00	\$ 14,100.00
90	MANHOLES, TYPE A, 6'-DIAMETER, TYPE 1 FRAME, OPEN LID	EACH	1	\$ 6,500.00	\$ 6,500.00	\$ 7,500.00	\$ 7,500.00	\$ 11,000.00	\$ 11,000.00	\$ 10,800.00	\$ 10,800.00	\$ 15,000.00	\$ 15,000.00	\$ 6,200.00	\$ 6,200.00	\$ 9,000.00	\$ 9,000.00	\$ 20,000.00	\$ 20,000.00	\$ 7,600.00	\$ 7,600.00	\$ 9,250.00	\$ 9,250.00
91	MANHOLES, TYPE A, 7'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	1	\$ 9,000.00	\$ 9,000.00	\$ 9,500.00	\$ 9,500.00	\$ 20,000.00	\$ 20,000.00	\$ 17,000.00	\$ 17,000.00	\$ 20,000.00	\$ 20,000.00	\$ 10,400.00	\$ 10,400.00	\$ 12,500.00	\$ 12,500.00	\$ 32,000.00	\$ 32,000.00	\$ 9,800.00	\$ 9,800.00	\$ 12,500.00	\$ 12,500.00
92	MANHOLES, TYPE A, 9'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	3	\$ 14,000.00	\$ 42,000.00	\$ 17,500.00	\$ 52,500.00	\$ 25,200.00	\$ 75,600.00	\$ 24,000.00	\$ 72,000.00	\$ 25,000.00	\$ 75,000.00	\$ 26,200.00	\$ 78,600.00	\$ 20,000.00	\$ 60,000.00	\$ 35,000.00	\$ 105,000.00	\$ 17,400.00	\$ 52,200.00	\$ 36,000.00	\$ 108,000.00
93	VALVE VAULTS, TYPE A, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	6	\$ 3,200.00	\$ 19,200.00	\$ 4,500.00	\$ 27,000.00	\$ 4,400.00	\$ 26,400.00	\$ 3,250.00	\$ 19,500.00	\$ 3,000.00	\$ 18,000.00	\$ 2,900.00	\$ 17,400.00	\$ 3,750.00	\$ 22,500.00	\$ 6,000.00	\$ 36,000.00	\$ 3,800.00	\$ 22,800.00	\$ 500.00	\$ 3,000.00
94	VALVE VAULTS, TYPE A, 5'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	11	\$ 4,200.00	\$ 46,200.00	\$ 5,500.00	\$ 60,500.00	\$ 5,300.00	\$ 58,300.00	\$ 4,500.00	\$ 49,500.00	\$ 4,000.00	\$ 44,000.00	\$ 3,700.00	\$ 40,700.00	\$ 5,000.00	\$ 55,000.00	\$ 7,000.00	\$ 77,000.00	\$ 4,600.00	\$ 50,600.00	\$ 500.00	\$ 5,500.00
95	REMOVING MANHOLES	EACH	3	\$ 500.00	\$ 1,500.00	\$ 1,000.00	\$ 3,000.00	\$ 500.00	\$ 1,500.00	\$ 375.00	\$ 1,125.00	\$ 900.00	\$ 2,700.00	\$ 600.00	\$ 1,800.00	\$ 300.00	\$ 900.00	\$ 500.00	\$ 1,500.00	\$ 500.00	\$ 1,500.00	\$ 500.00	\$ 1,500.00
96	REMOVING CATCH BASINS	EACH	3	\$ 500.00	\$ 1,500.00	\$ 750.00	\$ 2,250.00	\$ 450.00	\$ 1,350.00	\$ 550.00	\$ 1,650.00	\$ 900.00	\$ 2,700.00	\$ 500.00	\$ 1,500.00	\$ 300.00	\$ 900.00	\$ 500.00	\$ 1,500.00	\$ 500.00	\$ 1,500.00	\$ 500.00	\$ 1,500.00
97	REMOVING INLETS	EACH	3	\$ 400.00	\$ 1,200.00	\$ 500.00	\$ 1,500.00	\$ 325.00	\$ 975.00	\$ 275.00	\$ 825.00	\$ 900.00	\$ 2,700.00	\$ 200.00	\$ 600.00	\$ 250.00	\$ 750.00	\$ 400.00	\$ 1,200.00	\$ 200.00	\$ 600.00	\$ 500.00	\$ 1,500.00
98	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	FOOT	3600	\$ 38.00	\$ 136,800.00	\$ 60.00	\$ 216,000.00	\$ 31.00	\$ 111,600.00	\$ 32.00	\$ 115,200.00	\$ 27.00	\$ 97,200.00	\$ 29.00	\$ 104,400.00	\$ 26.00	\$ 93,600.00	\$ 28.00	\$ 100,800.00	\$ 27.00	\$ 97,200.00	\$ 43.50	\$ 156,600.00
99	CHAIN LINK FENCE, 6'	FOOT	450	\$ 50.00	\$ 22,500.00	\$ 50.00	\$ 22,500.00	\$ 51.00	\$ 22,950.00	\$ 45.00	\$ 20,250.00	\$ 60.00	\$ 27,000.00	\$ 52.00	\$ 23,400.00	\$ 55.00	\$ 24,750.00	\$ 50.00	\$ 22,500.00	\$ 50.00	\$ 22,500.00	\$ 46.50	\$ 20,925.00
100	NON-SPECIAL WASTE DISPOSAL	CU YD	50	\$ 100.00	\$ 5,000.00	\$ 150.00	\$ 7,500.00	\$ 93.50	\$ 4,675.00	\$ 100.00	\$ 5,000.00	\$ 120.00	\$ 6,000.00	\$ 30.00	\$ 1,500.00	\$ 100.00	\$ 5,000.00	\$ 100.00	\$ 5,000.00	\$ 112.00	\$ 5,600.00	\$ 1.00	\$ 50.00
101	MOBILIZATION	L SUM	1	\$ 50,000.00	\$ 50,000.00	\$ 329,298.00	\$ 329,298.00	\$ 290,000.00	\$ 290,000.00	\$ 223,230.00	\$ 223,230.00	\$ 288,000.00	\$ 288,000.00	\$ 290,000.00	\$ 290,000.00	\$ 240,000.00	\$ 240,000.00	\$ 375,000.00	\$ 375,000.00	\$ 240,000.00	\$ 240,000.00	\$ 145,000.00	\$ 145,000.00
102	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	SQ FT	150	\$ 6.00	\$ 900.00	\$ 6.00	\$ 900.00	\$ 6.75	\$ 1,012.50	\$ 10.00	\$ 1,500.00	\$ 15.00	\$ 2,250.00	\$ 11.00	\$ 1,650.00	\$ 7.00	\$ 1,050.00	\$ 8.00	\$ 1,200.00	\$ 7.00	\$ 1,050.00	\$ 6.05	\$ 907.50
103	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	FOOT	2250	\$ 2.00	\$ 4,500.00	\$ 1.10	\$ 2,475.00	\$ 1.25	\$ 2,812.50	\$ 1.65	\$ 3,712.50	\$ 1.00	\$ 2,250.00	\$ 3.00	\$ 6,750.00	\$ 1.50	\$ 3,375.00	\$ 2.50	\$ 5,625.00	\$ 1.20	\$ 2,700.00	\$ 1.15	\$ 2,587.50
104	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	FOOT	680	\$ 2.50	\$ 1,700.00	\$ 1.50	\$ 1,020.00	\$ 1.75	\$ 1,190.00	\$ 2.50	\$ 1,700.00	\$ 2.00	\$ 1,360.00	\$ 5.00	\$ 3,400.00	\$ 2.00	\$ 1,360.00	\$ 3.00	\$ 2,040.00	\$ 1.60	\$ 1,088.00	\$ 1.55	\$ 1,054.00
105	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	FOOT	100	\$ 6.00	\$ 600.00	\$ 3.00	\$ 300.00	\$ 3.25	\$ 325.00	\$ 5.00	\$ 500.00	\$ 3.00	\$ 300.00	\$ 9.00	\$ 900.00	\$ 4.00	\$ 400.00	\$ 6.00	\$ 600.00	\$ 4.00	\$ 400.00	\$ 3.15	\$ 315.00
106	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	FOOT	140	\$ 10.00	\$ 1,400.00	\$ 6.00	\$ 840.00	\$ 6.75	\$ 945.00	\$ 10.00	\$ 1,400.00	\$ 15.00	\$ 2,100.00	\$ 19.00	\$ 2,660.00	\$ 7.00	\$ 980.00	\$ 8.00	\$ 1,120.00	\$ 8.00	\$ 1,120.00	\$ 6.25	\$ 875.00
107	ELECTRIC SERVICE INSTALLATION	EACH	1	\$ 1,500.00	\$ 1,500.00	\$ 4,253.00	\$ 4,253.00	\$ 4,900.00	\$ 4,900.00	\$ 4,455.00	\$ 4,455.00	\$ 4,500.00	\$ 4,500.00	\$ 4,700.00	\$ 4,700.00	\$ 4,900.00	\$ 4,900.00	\$ 10,000.00	\$ 10,000.00	\$ 4,500.00	\$ 4,500.00	\$ 14,750.00	\$ 14,750.00
108	ELECTRIC UTILITY SERVICE CONNECTION	L SUM	1	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 11,000.00	\$ 11,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 11,000.00	\$ 11,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,000.00	\$ 10,500.00	\$ 10,500.00
109	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2" DIA.	FOOT	20	\$ 30.00	\$ 600.00	\$ 50.00	\$ 1,000.00	\$ 87.00	\$ 1,740.00	\$ 79.00	\$ 1,580.00	\$ 79.00	\$ 1,580.00	\$ 60.00	\$ 1,200.00	\$ 83.00	\$ 1,660.00	\$ 65.00	\$ 1,300.00	\$ 80.00	\$ 1,600.00	\$ 80.50	\$ 1,610.00
110	UNDERGROUND CONDUIT, GALVANIZED STEEL, 2 1/2" DIA.	FOOT	190	\$ 60.00	\$ 11,400.00	\$ 62.90	\$ 11,951.00	\$ 56.00	\$ 10,640.00	\$ 51.00	\$ 9,690.00	\$ 51.00	\$ 9,690.00	\$ 70.00	\$ 13,300.00	\$ 54.00	\$ 10,260.00	\$ 75.00	\$ 14,250.00	\$ 55.00	\$ 10,450.00	\$ 52.00	\$ 9,880.00
111	UNDERGROUND CONDUIT, COILABLE NONMETALLIC CONDUIT, 1" DIA.	FOOT	2020	\$ 22.50	\$ 45,450.00	\$ 17.70	\$ 35,754.00	\$ 17.50	\$ 35,350.00	\$ 16.00	\$ 32,320.00	\$ 16.00	\$ 32,320.00	\$ 20.00	\$ 40,400.00	\$ 17.00	\$ 34,340.00	\$ 19.00	\$ 38,380.00	\$ 16.00	\$ 32,320.00	\$ 16.35	\$ 33,027.00
112	HANDHOLE, COMPOSITE CONCRETE	EACH	4	\$ 1,250.00	\$ 5,000.00	\$ 1,753.00	\$ 7,012.00	\$ 1,250.00	\$ 5,000.00	\$ 1,137.00	\$ 4,548.00	\$ 1,200.00	\$ 4,800.00	\$ 2,000.00	\$ 8,000.00	\$ 1,200.00	\$ 4,800.00	\$ 2,200.00	\$ 8,800.00	\$ 1,200.00	\$ 4,800.00	\$ 1,175.00	\$ 4,700.00

113	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 8	FOOT	8060	\$ 1.80	\$ 14,508.00	\$ 2.20	\$ 17,732.00	\$ 1.60	\$ 12,896.00	\$ 1.45	\$ 11,687.00	\$ 1.50	\$ 12,090.00	\$ 2.50	\$ 20,150.00	\$ 1.50	\$ 12,090.00	\$ 2.25	\$ 18,135.00	\$ 1.50	\$ 12,090.00	\$ 1.50	\$ 12,090.00
114	ELECTRIC CABLE IN CONDUIT, 600V (XLP-TYPE USE) 1/C NO. 2	FOOT	75	\$ 10.00	\$ 750.00	\$ 12.30	\$ 922.50	\$ 4.10	\$ 307.50	\$ 3.70	\$ 277.50	\$ 10.00	\$ 750.00	\$ 14.00	\$ 1,050.00	\$ 4.00	\$ 300.00	\$ 13.00	\$ 975.00	\$ 4.00	\$ 300.00	\$ 4.00	\$ 300.00
115	LIGHTING CONTROLLER, PEDESTAL MOUNTED, 240VOLT, 100AMP	EACH	1	\$ 15,000.00	\$ 15,000.00	\$ 14,064.00	\$ 14,064.00	\$ 12,500.00	\$ 12,500.00	\$ 11,320.00	\$ 11,320.00	\$ 11,400.00	\$ 11,400.00	\$ 15,000.00	\$ 15,000.00	\$ 11,900.00	\$ 11,900.00	\$ 15,000.00	\$ 15,000.00	\$ 11,500.00	\$ 11,500.00	\$ 12,000.00	\$ 12,000.00
116	LIGHT POLE FOUNDATION, 24" DIAMETER	FOOT	50	\$ 250.00	\$ 12,500.00	\$ 265.80	\$ 13,290.00	\$ 300.00	\$ 15,000.00	\$ 266.00	\$ 13,300.00	\$ 266.00	\$ 13,300.00	\$ 300.00	\$ 15,000.00	\$ 280.00	\$ 14,000.00	\$ 290.00	\$ 14,500.00	\$ 180.00	\$ 9,000.00	\$ 275.00	\$ 13,750.00
117	REMOVE EXISTING WATER VALVE	EACH	5	\$ 400.00	\$ 2,000.00	\$ 750.00	\$ 3,750.00	\$ 400.00	\$ 2,000.00	\$ 475.00	\$ 2,375.00	\$ 900.00	\$ 4,500.00	\$ 400.00	\$ 2,000.00	\$ 300.00	\$ 1,500.00	\$ 750.00	\$ 3,750.00	\$ 1,200.00	\$ 6,000.00	\$ 215.00	\$ 1,075.00
118	WATER VALVE BOXES TO BE ABANDONED	EACH	2	\$ 250.00	\$ 500.00	\$ 500.00	\$ 1,000.00	\$ 275.00	\$ 550.00	\$ 475.00	\$ 950.00	\$ 900.00	\$ 1,800.00	\$ 200.00	\$ 400.00	\$ 200.00	\$ 400.00	\$ 300.00	\$ 600.00	\$ 100.00	\$ 200.00	\$ 150.00	\$ 300.00
119	REMOVE EXISTING VALVE AND VAULT	EACH	7	\$ 400.00	\$ 2,800.00	\$ 1,000.00	\$ 7,000.00	\$ 450.00	\$ 3,150.00	\$ 780.00	\$ 5,460.00	\$ 900.00	\$ 6,300.00	\$ 300.00	\$ 2,100.00	\$ 300.00	\$ 2,100.00	\$ 500.00	\$ 3,500.00	\$ 650.00	\$ 4,550.00	\$ 560.00	\$ 3,920.00
120	SANITARY SEWER, DUCTILE IRON, 8"	FOOT	79	\$ 120.00	\$ 9,480.00	\$ 250.00	\$ 19,750.00	\$ 204.00	\$ 16,116.00	\$ 175.00	\$ 13,825.00	\$ 220.00	\$ 17,380.00	\$ 175.00	\$ 13,825.00	\$ 200.00	\$ 15,800.00	\$ 275.00	\$ 21,725.00	\$ 132.00	\$ 10,428.00	\$ 150.00	\$ 11,850.00
121	MEMBRANE WATERPROOFING SYSTEM FOR BURIED STRUCTURES	SQ YD	190	\$ 80.00	\$ 15,200.00	\$ 45.00	\$ 8,550.00	\$ 61.00	\$ 11,590.00	\$ 60.00	\$ 11,400.00	\$ 84.00	\$ 15,960.00	\$ 120.00	\$ 22,800.00	\$ 75.00	\$ 14,250.00	\$ 80.00	\$ 15,200.00	\$ 38.00	\$ 7,220.00	\$ 42.00	\$ 7,980.00
122	JUNCTION CHAMBER NO. 1	EACH	1	\$ 50,825.00	\$ 50,825.00	\$ 55,000.00	\$ 55,000.00	\$ 75,400.00	\$ 75,400.00	\$ 64,000.00	\$ 64,000.00	\$ 60,000.00	\$ 60,000.00	\$ 81,000.00	\$ 81,000.00	\$ 100,000.00	\$ 100,000.00	\$ 120,000.00	\$ 120,000.00	\$ 58,000.00	\$ 58,000.00	\$ 65,000.00	\$ 65,000.00
123	TEMPORARY ACCESS (PRIVATE ENTRANCE)	EACH	37	\$ 500.00	\$ 18,500.00	\$ 1,000.00	\$ 37,000.00	\$ 25.00	\$ 925.00	\$ 450.00	\$ 16,650.00	\$ 1.00	\$ 37.00	\$ 100.00	\$ 3,700.00	\$ 60.00	\$ 2,220.00	\$ 300.00	\$ 11,100.00	\$ 600.00	\$ 22,200.00	\$ 135.00	\$ 4,995.00
124	TEMPORARY ACCESS (COMMERCIAL ENTRANCE)	EACH	2	\$ 500.00	\$ 1,000.00	\$ 1,500.00	\$ 3,000.00	\$ 50.00	\$ 100.00	\$ 900.00	\$ 1,800.00	\$ 1.00	\$ 2.00	\$ 150.00	\$ 300.00	\$ 200.00	\$ 400.00	\$ 500.00	\$ 1,000.00	\$ 1,800.00	\$ 3,600.00	\$ 235.00	\$ 470.00
125	ABANDON EXISTING WATER MAIN, FILL WITH CLSM	FOOT	2800	\$ 10.00	\$ 28,000.00	\$ 10.00	\$ 28,000.00	\$ 1.00	\$ 2,800.00	\$ 13.25	\$ 37,100.00	\$ 4.00	\$ 11,200.00	\$ 6.00	\$ 16,800.00	\$ 4.50	\$ 12,600.00	\$ 5.00	\$ 14,000.00	\$ 6.00	\$ 16,800.00	\$ 3.00	\$ 8,400.00
126	MANHOLES, SANITARY, 4'-DIAMETER, TYPE 1 FRAME, CLOSED LID	EACH	7	\$ 5,000.00	\$ 35,000.00	\$ 12,500.00	\$ 87,500.00	\$ 6,725.00	\$ 47,075.00	\$ 6,900.00	\$ 48,300.00	\$ 6,000.00	\$ 42,000.00	\$ 5,800.00	\$ 40,600.00	\$ 5,500.00	\$ 38,500.00	\$ 10,000.00	\$ 70,000.00	\$ 5,800.00	\$ 40,600.00	\$ 6,000.00	\$ 42,000.00
127	TRAFFIC CONTROL AND PROTECTION, (SPECIAL)	L SUM	1	\$ 20,000.00	\$ 20,000.00	\$ 150,000.00	\$ 150,000.00	\$ 64,000.00	\$ 64,000.00	\$ 13,500.00	\$ 13,500.00	\$ 280,000.00	\$ 280,000.00	\$ 264,000.00	\$ 264,000.00	\$ 100,000.00	\$ 100,000.00	\$ 150,000.00	\$ 150,000.00	\$ 115,000.00	\$ 115,000.00	\$ 250,000.00	\$ 250,000.00
128	LIGHT POLE FOUNDATION, 24" DIAMETER, OFFSET	FOOT	70	\$ 300.00	\$ 21,000.00	\$ 307.80	\$ 21,546.00	\$ 425.00	\$ 29,750.00	\$ 380.00	\$ 26,600.00	\$ 380.00	\$ 26,600.00	\$ 330.00	\$ 23,100.00	\$ 400.00	\$ 28,000.00	\$ 330.00	\$ 23,100.00	\$ 380.00	\$ 26,600.00	\$ 400.00	\$ 28,000.00
129	LIGHTING UNIT COMPLETE	EACH	10	\$ 8,500.00	\$ 85,000.00	\$ 7,012.00	\$ 70,120.00	\$ 6,950.00	\$ 69,500.00	\$ 6,310.00	\$ 63,100.00	\$ 6,300.00	\$ 63,000.00	\$ 7,700.00	\$ 77,000.00	\$ 6,625.00	\$ 66,250.00	\$ 7,500.00	\$ 75,000.00	\$ 6,500.00	\$ 65,000.00	\$ 6,500.00	\$ 65,000.00
130	HOT-MIX ASPHALT DRIVEWAY PAVEMENT, 6"	SQ YD	550	\$ 60.00	\$ 33,000.00	\$ 80.00	\$ 44,000.00	\$ 55.00	\$ 30,250.00	\$ 79.00	\$ 43,450.00	\$ 72.00	\$ 39,600.00	\$ 75.00	\$ 41,250.00	\$ 75.00	\$ 41,250.00	\$ 85.00	\$ 46,750.00	\$ 80.00	\$ 44,000.00	\$ 91.25	\$ 50,187.50
131	STABILIZED CONSTRUCTION ENTRANCE	SQ YD	120	\$ 40.00	\$ 4,800.00	\$ 45.00	\$ 5,400.00	\$ 1.00	\$ 120.00	\$ 39.00	\$ 4,680.00	\$ 42.00	\$ 5,040.00	\$ 25.00	\$ 3,000.00	\$ 62.00	\$ 7,440.00	\$ 100.00	\$ 12,000.00	\$ 32.00	\$ 3,840.00	\$ 60.00	\$ 7,200.00
132	CONSTRUCTION LAYOUT	L SUM	1	\$ 20,000.00	\$ 20,000.00	\$ 150,000.00	\$ 150,000.00	\$ 25,500.00	\$ 25,500.00	\$ 20,000.00	\$ 20,000.00	\$ 24,000.00	\$ 24,000.00	\$ 34,000.00	\$ 34,000.00	\$ 20,000.00	\$ 20,000.00	\$ 60,000.00	\$ 60,000.00	\$ 18,000.00	\$ 18,000.00	\$ 50,000.00	\$ 50,000.00
133	DRAINAGE & UTILITY STRUCTURES TO BE ADJUSTED	EACH	10	\$ 500.00	\$ 5,000.00	\$ 1,500.00	\$ 15,000.00	\$ 1,000.00	\$ 10,000.00	\$ 850.00	\$ 8,500.00	\$ 700.00	\$ 7,000.00	\$ 900.00	\$ 9,000.00	\$ 750.00	\$ 7,500.00	\$ 850.00	\$ 8,500.00	\$ 800.00	\$ 8,000.00	\$ 700.00	\$ 7,000.00
134	FENCE REMOVAL	FOOT	670	\$ 10.00	\$ 6,700.00	\$ 12.00	\$ 8,040.00	\$ 11.50	\$ 7,705.00	\$ 10.50	\$ 7,035.00	\$ 13.00	\$ 8,710.00	\$ 11.00	\$ 7,370.00	\$ 10.00	\$ 6,700.00	\$ 10.50	\$ 7,035.00	\$ 11.00	\$ 7,370.00	\$ 12.50	\$ 8,375.00
135	SANITARY SEWER 8"	FOOT	622	\$ 100.00	\$ 62,200.00	\$ 200.00	\$ 124,400.00	\$ 129.00	\$ 80,238.00	\$ 104.00	\$ 64,688.00	\$ 135.00	\$ 83,970.00	\$ 137.00	\$ 85,214.00	\$ 150.00	\$ 93,300.00	\$ 180.00	\$ 111,960.00	\$ 122.00	\$ 75,884.00	\$ 125.00	\$ 77,750.00
136	WOOD POST AND RAIL FENCE	FOOT	220	\$ 80.00	\$ 17,600.00	\$ 160.00	\$ 35,200.00	\$ 173.00	\$ 38,060.00	\$ 158.00	\$ 34,760.00	\$ 68.00	\$ 14,960.00	\$ 182.00	\$ 40,040.00	\$ 160.00	\$ 35,200.00	\$ 160.00	\$ 35,200.00	\$ 170.00	\$ 37,400.00	\$ 157.50	\$ 34,650.00
137	ADJUSTING SANITARY SEWERS, 6-INCH DIAMETER OR LESS	FOOT	850	\$ 100.00	\$ 85,000.00	\$ 150.00	\$ 127,500.00	\$ 156.00	\$ 132,600.00	\$ 120.00	\$ 102,000.00	\$ 80.00	\$ 68,000.00	\$ 59.00	\$ 50,150.00	\$ 80.00	\$ 68,000.00	\$ 90.00	\$ 76,500.00	\$ 60.00	\$ 51,000.00	\$ 59.00	\$ 50,150.00
138	CLASS D PATCHES, 6 INCH SPECIAL	SQ YD	250	\$ 65.00	\$ 16,250.00	\$ 90.00	\$ 22,500.00	\$ 62.00	\$ 15,500.00	\$ 49.90	\$ 12,475.00	\$ 70.00	\$ 17,500.00	\$ 65.00	\$ 16,250.00	\$ 85.00	\$ 21,250.00	\$ 85.00	\$ 21,250.00	\$ 95.00	\$ 23,750.00	\$ 83.00	\$ 20,750.00
139	CURED-IN-PLACE PIPE LINER, 8"	FOOT	1589	\$ 30.00	\$ 47,670.00	\$ 45.00	\$ 71,505.00	\$ 44.00	\$ 69,916.00	\$ 39.90	\$ 63,401.10	\$ 40.00	\$ 63,560.00	\$ 45.00	\$ 71,505.00	\$ 41.00	\$ 65,149.00	\$ 52.00	\$ 82,628.00	\$ 43.00	\$ 68,327.00	\$ 43.00	\$ 68,327.00
140	CURED-IN-PLACE PIPE LINER, 12"	FOOT	399	\$ 40.00	\$ 15,960.00	\$ 60.00	\$ 23,940.00	\$ 62.00	\$ 24,738.00	\$ 56.25	\$ 22,443.75	\$ 57.00	\$ 22,743.00	\$ 64.00	\$ 25,536.00	\$ 58.00	\$ 23,142.00	\$ 69.00	\$ 27,531.00	\$ 60.00	\$ 23,940.00	\$ 61.00	\$ 24,339.00
141	DEWATERING, COFFERDAMS, PUMPING	L SUM	1	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 15,000.00	\$ 25,000.00	\$ 25,000.00	\$ 30,000.00	\$ 30,000.00	\$ 1,000.00	\$ 1,000.00	\$ 3,000.00	\$ 3,000.00	\$ 50,000.00	\$ 50,000.00	\$ 40,000.00	\$ 40,000.00	\$ 40,000.00	\$ 40,000.00	\$ 36,500.00	\$ 36,500.00
142	HIGH CAPACITY INLET WITH INTEGRAL OPEN CURB	EACH	17	\$ 9,000.00	\$ 153,000.00	\$ 9,000.00	\$ 153,000.00	\$ 9,675.00	\$ 164,475.00	\$ 8,000.00	\$ 136,000.00	\$ 9,000.00	\$ 153,000.00	\$ 7,500.00	\$ 127,500.00	\$ 8,500.00	\$ 144,500.00	\$ 12,000.00	\$ 204,000.00	\$ 5,200.00	\$ 88,400.00	\$ 10,000.00	\$ 170,000.00
143	INLETS, TYPE A, TYPE 11 FRAME AND GRATE, OVER BOX CULVERT	EACH	4	\$ 2,500.00	\$ 10,000.00	\$ 3,500.00	\$ 14,000.00	\$ 3,025.00	\$ 12,100.00	\$ 2,000.00	\$ 8,000.00	\$ 3,000.00	\$ 12,000.00	\$ 1,600.00	\$ 6,400.00	\$ 2,500.00	\$ 10,000.00	\$ 3,500.00	\$ 14,000.00	\$ 1,600.00	\$ 6,400.00	\$ 2,100.00	\$ 8,400.00
144	ITEMS AS ORDERED BY ENGINEER	EACH	25000	\$ 1.00	\$ 25,000.00	\$ 1.00	\$ 25,000.00	\$ 1.00	\$ 25,000.00	\$ 1.00	\$ 25,000.00	\$ 1.00	\$ 25,000.00	\$ 1.00	\$ 25,000.00	\$ 1.00	\$ 25,000.00	\$ 1.00	\$ 25,000.00	\$ 1.00	\$ 25,000.00	\$ 1.00	\$ 25,000.00
145	JUNCTION CHAMBER, 9' X 9' BOX	EACH	1	\$ 25,000.00	\$ 25,000.00	\$ 36,000.00	\$ 36,000.00	\$ 51,750.00	\$ 51,750.00	\$ 50,000.00	\$ 50,000.00	\$ 40,000.00	\$ 40,000.00	\$ 45,000.00	\$ 45,000.00	\$ 75,000.00	\$ 75,000.00	\$ 100,000.00	\$ 100,000.00	\$ 28,000.00	\$ 28,000.00	\$ 36,500.00	\$ 36,500.00
146	LATERAL SERVICE CONNECTION REINSTATEMENT	EACH	22	\$ 100.00	\$ 2,200.00	\$ 100.00	\$ 2,200.00	\$ 55.00	\$ 1,210.00	\$ 50.00	\$ 1,100.00	\$ 50.00	\$ 1,100.00	\$ 60.00	\$ 1,320.00	\$ 55.00	\$ 1,210.00	\$ 100.00	\$ 2,200.00	\$ 60.00	\$ 1,320.00	\$ 225.00	\$ 4,950.00
147	LOCATING UNDERGROUND UTILITY	EACH	8	\$ 500.00	\$ 4,000.00	\$ 1,500.00	\$ 12,000.00	\$ 500.00	\$ 4,000.00	\$ 950.00	\$ 7,600.00	\$ 1,500.00	\$ 12,000.00	\$ 300.00	\$ 2,400.00	\$ 500.00	\$ 4,000.00	\$ 600.00	\$ 4,800.00	\$ 700.00	\$ 5,600.00	\$ 875.00	\$ 7,000.00
148	PLUG AND BLOCK WATER MAIN	EACH	3	\$ 1,000.00	\$ 3,000.00	\$ 1,500.00	\$ 4,500.00	\$ 600.00	\$ 1,800.00	\$ 1,600.00	\$ 4,800.00	\$ 2,000.00	\$ 6,000.00	\$ 1,100.00	\$ 3,300.00	\$ 1,750.00	\$ 5,250.00	\$ 750.00	\$ 2,250.00	\$ 600.00	\$ 1,800.00	\$ 2,500.00	\$ 7,500.00
149	PROTRUDING SERVICE CONNECTIONS (2" OR GREATER)	EACH	5	\$ 200.00	\$ 1,000.00	\$ 200.00	\$ 1,000.00	\$ 165.00	\$ 825.00	\$ 150.00	\$ 750.00	\$ 400.00	\$ 2,000.00	\$ 200.00	\$ 1,000.00	\$ 175.00	\$ 875.00	\$ 200.00	\$ 1,000.00	\$ 200.00	\$ 1,000.00	\$ 455.00	\$ 2,275.00
150	REMOVE AND REPLACE SANITARY SEWER, 8"	FOOT	40	\$ 140.00	\$ 5,600.00	\$ 300.00	\$ 12,000.00	\$ 175.00	\$ 7,000.00	\$ 170.00	\$ 6,800.00	\$ 220.00	\$ 8,800.00	\$ 200.00	\$ 8,000.00	\$ 200.00	\$ 8,000.00	\$ 250.00	\$ 10,000.00	\$ 465.00	\$ 18,600.00	\$ 200.00	\$ 8,000.00
151	REMOVE EXISTING GARAGE	L SUM	1	\$ 3,000.00	\$ 3,000.00	\$ 10,000.00	\$ 10,000.00	\$ 1,000.00	\$ 1,000.00	\$ 13,500.00	\$ 13,500.00	\$ 3,000.00	\$ 3,000.00	\$ 4,500.00	\$ 4,500.00	\$ 2,500.00	\$ 2,500.00	\$ 6,000.00	\$ 6,000.00	\$ 1,000.00	\$ 1,000.00	\$ 1.00	\$ 1.00

152	REMOVE EXISTING SHED	L SUM	1	\$ 750.00	\$ 750.00	\$ 5,000.00	\$ 5,000.00	\$ 1,500.00	\$ 1,500.00	\$ 4,000.00	\$ 4,000.00	\$ 1,000.00	\$ 1,000.00	\$ 1,500.00	\$ 1,500.00	\$ 1,000.00	\$ 1,000.00	\$ 2,500.00	\$ 2,500.00	\$ 1,000.00	\$ 1,000.00	\$ 350.00	\$ 350.00
153	SANITARY SEWER SERVICE CLEANOUT	EACH	35	\$ 350.00	\$ 12,250.00	\$ 1,500.00	\$ 52,500.00	\$ 1,450.00	\$ 50,750.00	\$ 600.00	\$ 21,000.00	\$ 800.00	\$ 28,000.00	\$ 590.00	\$ 20,650.00	\$ 400.00	\$ 14,000.00	\$ 2,500.00	\$ 87,500.00	\$ 500.00	\$ 17,500.00	\$ 425.00	\$ 14,875.00
154	SANITARY SEWER SERVICE CONNECTIONS - TEE	EACH	32	\$ 200.00	\$ 6,400.00	\$ 1,500.00	\$ 48,000.00	\$ 4,950.00	\$ 158,400.00	\$ 2,500.00	\$ 80,000.00	\$ 900.00	\$ 28,800.00	\$ 1,100.00	\$ 35,200.00	\$ 750.00	\$ 24,000.00	\$ 3,500.00	\$ 112,000.00	\$ 1,200.00	\$ 38,400.00	\$ 2,650.00	\$ 84,800.00
155	SHUT DOWN CONNECTION TO EXISTING WATER MAIN	EACH	10	\$ 3,500.00	\$ 35,000.00	\$ 9,000.00	\$ 90,000.00	\$ 12,800.00	\$ 128,000.00	\$ 13,650.00	\$ 136,500.00	\$ 22,000.00	\$ 220,000.00	\$ 4,500.00	\$ 45,000.00	\$ 10,000.00	\$ 100,000.00	\$ 11,000.00	\$ 110,000.00	\$ 2,800.00	\$ 28,000.00	\$ 20,000.00	\$ 200,000.00
156	STEEL CASING PIPE, AUGERED AND JACKED IN PLACE, 24"	FOOT	70	\$ 600.00	\$ 42,000.00	\$ 750.00	\$ 52,500.00	\$ 500.00	\$ 35,000.00	\$ 215.00	\$ 15,050.00	\$ 600.00	\$ 42,000.00	\$ 1,100.00	\$ 77,000.00	\$ 950.00	\$ 66,500.00	\$ 1,700.00	\$ 119,000.00	\$ 680.00	\$ 47,600.00	\$ 650.00	\$ 45,500.00
157	STEEL CASING PIPE IN OPEN CUT, 16"	FOOT	20	\$ 120.00	\$ 2,400.00	\$ 500.00	\$ 10,000.00	\$ 400.00	\$ 8,000.00	\$ 215.00	\$ 4,300.00	\$ 300.00	\$ 6,000.00	\$ 270.00	\$ 5,400.00	\$ 400.00	\$ 8,000.00	\$ 250.00	\$ 5,000.00	\$ 220.00	\$ 4,400.00	\$ 400.00	\$ 8,000.00
158	TELEVISED INSPECTION, SANITARY SEWER	FOOT	2000	\$ 3.00	\$ 6,000.00	\$ 4.00	\$ 8,000.00	\$ 3.65	\$ 7,300.00	\$ 3.30	\$ 6,600.00	\$ 3.00	\$ 6,000.00	\$ 4.00	\$ 8,000.00	\$ 3.50	\$ 7,000.00	\$ 3.50	\$ 7,000.00	\$ 3.50	\$ 7,000.00	\$ 3.50	\$ 7,000.00
159	WATER MAIN FITTINGS, RESTRAINED JOINT	LBS	3000	\$ 4.00	\$ 12,000.00	\$ 7.50	\$ 22,500.00	\$ 8.75	\$ 26,250.00	\$ 10.00	\$ 30,000.00	\$ 30.00	\$ 90,000.00	\$ 8.00	\$ 24,000.00	\$ 1.00	\$ 3,000.00	\$ 9.00	\$ 27,000.00	\$ 9.00	\$ 27,000.00	\$ 9.00	\$ 27,000.00
160	WATER SERVICE REPLACEMENT, WITH NEW BUFFALO BOX, LONG SIDE	EACH	19	\$ 3,500.00	\$ 66,500.00	\$ 4,500.00	\$ 85,500.00	\$ 8,450.00	\$ 160,550.00	\$ 4,100.00	\$ 77,900.00	\$ 3,400.00	\$ 64,600.00	\$ 4,800.00	\$ 91,200.00	\$ 3,000.00	\$ 57,000.00	\$ 5,200.00	\$ 98,800.00	\$ 4,200.00	\$ 79,800.00	\$ 4,400.00	\$ 83,600.00
161	WATER SERVICE REPLACEMENT, WITH NEW BUFFALO BOX, SHORT SIDE	EACH	16	\$ 3,200.00	\$ 51,200.00	\$ 3,000.00	\$ 48,000.00	\$ 5,650.00	\$ 90,400.00	\$ 2,150.00	\$ 34,400.00	\$ 2,400.00	\$ 38,400.00	\$ 3,000.00	\$ 48,000.00	\$ 1,800.00	\$ 28,800.00	\$ 4,200.00	\$ 67,200.00	\$ 3,500.00	\$ 56,000.00	\$ 3,750.00	\$ 60,000.00

Total	As Read	\$	3,993,750.50	\$	5,500,000.00	\$	4,844,843.90	\$	4,681,223.65	\$	4,825,269.00	\$	4,665,558.04	\$	4,848,722.00	\$	6,294,543.00	\$	4,345,718.00	\$	4,770,850.15
Bid	As Corrected	\$		\$	5,500,000.00	\$	4,844,843.90	\$	4,681,223.65	\$	4,825,269.00	\$	4,665,558.04	\$	4,848,722.00	\$	6,294,543.00	\$	4,346,378.00	\$	4,770,850.15